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Accounting Final Model Test -4
Time : 30 Minutes. | Total Questions : 30 | Total Mark : 30 X 1 = 30
Postive Mark For Every Question : 1 | Negative Mark For Every Question : 0

1) fomafaests @3 = fefs Fi?
A. Bl
B. SR G
C. ¢t
D. ©ieoia

Correct Answer : TS

2) AR (I et f2ora?

A. @
B. ™m
C. @
D. Wifers = ¥

Correct Answer : 3w

3) @G AfGH?

Tow i sricamiy feifolam =3-
1& 11

1 & 11l

11 & iii

1 & 11 & 111

©nw>

Correct Answer : 1 & 1i1

4) e @G AfGH?
A 1&ii
B. 1 &iii
C.1u&ii
D.1&ii &iii

Correct Answer : 1 & iii

5) e I Sifitd 2fspies T Tre foet T BIFT?
2033 T S TR ©ifitd T&8 wo, 000 517 f2e, yo TR ST S0,000 BIFF GF (21T AT & (T T |5¢ TR ©ifFee T i
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Soooo B
0000 Siwt
w0000 GIFl
D. 80000 B!

Qw >

Correct Answer : Woooo G

6) e @I AfSw?
2032 AT S IR ©Ifeitd Ta8 wo,000 BiFl f2et, yo SR ©IfTY So,000 Bl (5F LT IFICF Gl (A R 15¢ R ©Ificd T bpiG
AIRCF 20O AT =T |

A i1&ii
B. i &1ii
C. i &iii
D. 1 &ii &iii

Correct Answer : 1 & 1ii

7) T FEF GIAFS B ¢oo BIFT QLT NoWIF IR0S Q3N (ST T WIS AN [t A Fomi
REE 4T F© ZA?

A. 3¢o BI
B. ¢oo Bis
C. Sooo B!
D. >¢oo GBIt

Correct Answer : €oo BI!

8) fva @I=G Afd?
1&11

1 & iii

1 & 1ii
1& 11 & 111

SN w>

Correct Answer : 1 & iii
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9) FIT ANAN TeW ey @S AL =A?

=N

A. 43 T A

B. 4t fR@ry Qe

C. oIt wfRifa e
D. f¥e @ A

Correct Answer : IN[¥® & AFCeT




10) TRt T FAeiee &6

A. AWM foTafeEe
B. Siamm fEoriafieels
C. mr=ife feafels

D. ¥ feoafRest

Correct Answer : NH37W ZARR[RE@EN

11) ARFCAC IS G 5T (T OIfee =77

A. SR, dodo
B. 5 TR, S5
C. > TR, S5
D. 5 TR, 5558

Correct Answer : 5 TTIE, So55

12) JiTt aifes wicawt @962

A. T ©fRG... T @ e
B. 2+l 17 (o5, ATt (& fen
C. Y 77 (w5, . 18T (@ ieh
D. oW (of<G... (T @ et

Correct Answer : 2w3 {77 (©f<G.. (6 (@i

13) @3 {23119 o GBIl o7l =2
37, AT @FE JT | So FTTHFH, 2029 ST fH ¢ % AT S0,000 FIFIF #I¢ly T7 FH, *$ So/20-f6 8¢ e | ¢ W =& @y “Afdreita
T =

A. doo00 BIFt
B. oo Bt
C. Sooo0 Gl
D. vGoo BIFt

Correct Answer : ®¢oo Bl

14) f5a @i 71192
37, AT «FE JIT | So FTTHFF, 2029 ST fH ¢ % AT S0,000 BFIFIF #I¢ly T7 FH, *$ So/20-f6 8¢ e | ¢ W =7 waay “Afdreita
|

A i&ii
B. i &iii
C. i &iii




D. 1 &1 &iii

Correct Answer : 1 & 11 & 1ii

15) beIfe IR0 (O M 90,000 BIFT AME FCACR IR A€ 20,000 Bl (IO ICHAT ACACR | 4 IRCA
YAIFIETSI T F©7

Y0000 B!
0000 Siwt
w0000 GIF!
¢oooo B!

Saow>

Correct Answer : ¢oooo GBI

16) foTRRSEIE @9 Tife Pt kT TN [ 27 T4 7

A. TS
B. I7i= Fife
C. afszifs arw
D. sjeferm

Correct Answer : “efef®M

17) 7151 (@R “afers 2033 IER SI6T T GIF Z(?
Q0RR A vo @WWWQ0,000WW&WWWWIW TRFF G 9,000 BT, I7F 476 9,000 BIFT, AR
T €,000 T Q3R SN SYHE ¢ I27 | DI aifc q=a 0y o siftne T 5 7 |

A. GGoo BIF

B. 50,000 GBI
C. 5,000 Bt
D. 33,000 Gi&

Correct Answer : ¢¢oo GBIl

18) fawet @IERTIT SHY TF F97?
Q0RR A vo @WWWQ0,000WW&%WWWIW TRF#F A 9,000 BIFl, I7F 476 9,000 BIFT, AR
T €,000 BT Q3R SN SYHE ¢ I27 | DI oife 777 0y o Sifins T 7% F |

A. S.vo%
B. v.5%
C. 0%
D. 80%

Correct Answer : 80%

19) Foa =G Afdw?




wicamie e J1%-
A 1&il
B. 1 & 11
C. i &iii
D.i&1i &iii

Correct Answer : 1 & 111

20) 2[4 =TI G 21! =0 SIBCI Al T AR (@I Ao ?

A. TTERT owfe
B. SRAMT 43T ciahe
C. TIEPI (&7 “lafo
D. fAwioig safe

Correct Answer : ST (& &f©

F S

21) o9 @ioe ey (@ EIEIIasiy e 237

A. TRT TGS 2ead faet wAfeeny
B. I & |

C. o= fafBe 42w

D. 9o o2fke 6F

Correct Answer : JIRF &G 7

22) IAS- 97 “efs 12

A. International Accounting Standard

B. International Accounting Standards
C. Internationally Accounting Standards
D. Internationally Accounting Standardss

Correct Answer : International Accounting Standards

23) e @G Afdw?
oM 92 LA

A 1&ii

B. 1 &iii

C. i1 &iii

D. 1 &ii &1iii

Correct Answer :1 & 11

24) AT IR &I % SR & (FI IR 2Taies 237




A. A
B. =

C. drfes
D. st

Correct Answer : 2t

25) eiafes Tem + 5 @3 + @ Afaeee -TeAs Tem?

A. e @Y

B. Rt @@

C. @S #ted %
D. G =T®

Correct Answer : [R@ e 2ol 53

26) &G =ites «fad 99

wifqar Guhf u3 ST [REde sAyiaat et | 76 R@T 32,00,000 B, fF@Te #Itala I3 REER 0% 8 Ao7F “AfF5eF I do,000 B
@32 IfATE ST 20,000 BIF |

A. 3.b0,000 BIF
B. 2,90,000 5%t
C. 3,b0,000 Gl
D. 8,¢0,000 GiFl

Correct Answer : %,90,000 B[l
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A. 3,%0,000 BI
B. 2,90,000 5%t
C. 8,20,000 Gl
D. 8,¢0,000 Gl

Correct Answer : 8,20,000 BI<

28) ALIF (FIF Tt JI6F I 17

A. S

B. WIS
C. Ta3s!
D. SPRIR#E

Correct Answer : ©f¥




29) wid< =t @8res Road Map PG 3911 =317

A. witamt
B. «fsaiq
C. @ealfye
D. 3¥=a

Correct Answer : F7[@

30) IAS-16 @3 ZIR 7WCE FI T SRS FA1 27?2

A. Assets and Property

B. Plant and Machinery

C. Land and Building

D. Prooperty, Plant and Machinery

Correct Answer : Prooperty, Plant and Machinery




